WILDRIDGE@ ASSEMBLY INSTRUCTIONS

PURVEYORS OF QUALITY POLY FURNITURE CLASSIC 33"
N OCCASIONAL TABLE LCC-220
330-893-4212 « www.wildridge.com

Required Tools: Hardware: Parts:

- Hammer - (8) 1/4" x 3 1/2" bolts A = (1) Table Top

- Cordless Drill - (8) 1/4” Flange Nuts B = (4) Legs

(2) Cross Supports
(2) Braces

- #2 Square Drive bit - (4) 3" Screws C
- 7/16™ Wrench or Socket - (8) 2 1/2" Screws D

Step 1 Step 2

Lay the table top (A) upside down on a soft surface and fasten the Center the cross supports (C) in between the legs, as shown,

4 legs (B) to the outside of the shorter cleats, using (2) 1/4"x3 1/2" where the countersink holes align, and fasten with (1) 3" screw,
bolts and (2) 1/4” flange nuts, per leg, making sure the countersink one per leg.

holes on the legs are facing outwards.




WILDRIDGE@ ASSEMBLY INSTRUCTIONS

PURVEYORS OF QUALITY POLY FURNITUR CLASSIC 33"
N OCCASIONAL TABLE LCC-220
330-893-4212 « www.wildridge.com

(1) 2 1/2"” Screw
\

\

L

- \

Step 3

Place the brace against the leg and table cleat so it has contact
with both, making sure the countersink holes are facing outward.
Fasten with (1) 2 1/2" screw into the cleat, and (1) 2 1/2" screw into
the leg. Repeat with remaining three braces on the remaining
three legs.

Step 4
Your table is now complete.

Thank you for purchasing from Wildridge.

©2017



